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EcormO=o0,,0,, ..., 0 — 3ByKOBas NocnenoBaTensLHOCTb,
W=w,,Ww,, ..., W —NnocregosartefibHoCTb CoB, TO

W =argmax P(W|O)

wWeL

A P(OW)P(W) _

W =argmax —argmaxP(O|W)P(W)
WeL pP(0) weL



OtBevatot 3a P(W)

1. CTatuctunyeckume

2. dopmanbHble



P(W) =P(wy,wy, ...,W,) =

= P(w1)P(Wa|wy)P(Ws|wy,ws) ... P(Wy|wy, Wy, ..., W) =

n
= l—[ P(Wi |W1' W2, ey Wi—l)
i=1

P(w.) — yHUrpammbl
P(w|w.,) — burpammbl
Tpu-, TETPA-, ...



C(Wp—1wp) _ C(Wp—1wWn)

P(Wnlwn-l) - ZW C(Wn-1Wn) a C(Wn—l)

<s> John read a book </s>
<s> I read a different book </s>
<s> John read a book by Mulan </s>

P(John read a book) =




C(Wp—1wp) _ C(Wn—1wWn)

P(Wnlwn_1) = ZWC(Wn—lwn) o C(Wn—l)

<s> John read a book </s>
<s> I read a different book </s>
<s> John read a book by Mulan </s>

P(John read a book) = P(John|<s>) * P(read|John)
* P(alread) * P(book|a) * P(</s>|book)

P(Mulan read a book) =




C(Wn—_1wp)

_ C(wp_gwy)

P(wp|wy_q) =

<s> John read a book

Yw C(Wp_1wy) - C(Wn-1)

</s>

<s> I read a different book </s>

<s> John read a book

by Mulan </s>

P(John read a book)
* P(a|read) * P(book

P(Mulan read a book)

= P(John|<s>) * P(read|John)
|a) * P(</s>|book)

I
Q)

= P(Mulan]|<s>) * ...




(Ko PULUMEHT HeoNpeaerniEHHOCTN)
Bbluncnserca Ha TectoBou nocriegosarterisHocTn annHonm N. Hem HuKe nepnnekcus,

TEM Jnydlle Mmoaersib.

N
: o |
perplexity(W) = P(wiwz...wy) perplexity (W) = N

HP(W,-|W1...W,-_1)
\/ 1 l_
N

2=

P(wiwy...wy)

[lepnniekcus ceBg3aHa C KPOCC-3HTPOMNUEMN:

| :
H(W) =—N—log2 P(W) PP (W) =2"™

W



1. CrnaxuaHue Jlannaca (Laplace smoothing, add-1 smoothing)

&i+1
PLaplace(Wi) = 1\; %7,

N
C;-k —_— (C,'+ l)m



C(Wp—1wp) +1 C(wp—1wy) +1

Praptace(WalWn-1) = 5= = 3Ty = Cwar) +V

<s> John read a book </s>
<s> I read a different book </s>
<s> John read a book by Mulan </s>
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2. Nnc-k crnaxmsaHune

C(Wn-an) + k

Ppddx(WnWa—1) =
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3. OTKaTt 1 nHTEepnonAUms

Bs‘mooth (Wi | Wi—n+l "'Wi—l)
N {a(wi | Wi i) if C(w,_,,;---w,)>0
}/(Wi—n+l 3 'Wi—l )Psmooth (Wi | wi—n+2 hi 'Wi—l ) lf C(Wi—n+l B 'Wi ):O
P(WalWa2Wn_1) = MP(wy)
+A2P(Wa|Wn—1)
+A3P(Wp|wp—2wn—1)
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a) OTkat KaTua

P*(Wnlwn—N+l:n—l)7 if C(Wn—N+l:n) >0

Wy, |Wh— ‘n—1) — 1
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6) CrnaxnBaHue 'yoa-TbropuHra

n
r=(r+1) 2
nl’

roe nr — KOJIN4YECTBO N-rpamMm, BCTPETUBLLNUXCA POBHO I pa3
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B) CrnaxunsaHune KHesepa-Hed

ALGORITHM 11.3 KNESER-NEY BIGRAM SMOOTHING

max {C(w,_,w;)—D,0;}
Poy (W, |w_)= C(w._,)
(W) Py (W,) otherwise

if C(w,_w)>0

where P, (w,) = C(ew,)/ Z C(ew,), C(ew,) is the number of unique words preceding w; .

L

a(w_,) is chosen to make the distributon sum to 1 so that we have:

max {C(w,_,w;)-D,0}
1 I Z wzC(wwy ) >0 C(wi—l )

s Zwk(‘( W w; =0 PKN (w’)

a(w,_,)=
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r) “Inynein” otkat (stupid backoff)

count(w;_n1:i)
S(WilWi—N+1:i-1) = count(w;_n41:i—1)
AS(W,' | Wi—N+2:i—1 ) otherwise

if count(w,-_N+1 ;,') >0
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P(w;lcips1---€ic1)

P(w; | ¢;)P(c;|¢i_psr---Cic1)

UneHamu aTuX Mmoaenen aBnATCA He KOHKPETHbIE CroBa, a
Krfiacchbl CroB.

Knaccbl moryT ObITb:

1. TloCcTpoOeHbl BPY4HYHO

2. Yactamu peun

3. Pesynsratom aBTOMaTM4YECKOM Kractepusaumnm
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Mopernb ocHoBa (s)/donekcus (e):

P(Sil Wl) - P(Sil -"Si—l)

P(ei| ...w;) = P(e;ls;ei—1)
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NHTepnonauma ctaTuyeckon m fiokanbHOM AUHaMNUYeCKomn (KaLwL)

Moaeneu
cache(w |W —n+1°* ' l)
P(W IW n+l* l)+(1 ﬂ’ ) cache(u)i I“’i—ZM)i—l)
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TF-IDF mopenb

number of times t appears in d
total number of terms in d

TF(t,d) =

IDF(t) = log

1+ df
TF — IDF(t,d) = TF(t,d) * IDF(¢)

2., 1fidf, * fidf,

,/ > (hidf,**Y (tfidf, )

Similarity(D,D,) =

20
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Models Perplexity Word Error Rate
Unigram Katz 1196.45 14.85%
Unigram Kneser-Ney 1199.59 14.86%
Bigram Katz 176.31 11.38%
Bigram Kneser-Ney 176.11 11.34%
Trigram Katz 9519 9.69%
Trigram Kneser-Ney 91.47 9.60%
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and

thanks

for

the

p(aardvark|...)

p(do|...)

p(fish|...)

Y1 3
Ry
b
Y 8 p(zebral...)
E
X  dx|v] 3dx1  dpx3d  dpxl [Vixdy, y
[VIx3 [V|x1
input layer ~ embedding hidden output layer
one-hot layer layer softmax
vectors
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npoexarb

HanpaBso

HaJieBo

oAV e MeTp
Ba

& ::>> MeTpa

TPK

Bnepea

Has3ag




9

person
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90 2 BN S0 N B

Rewrite Rules:

S-> NP VP
VP— V NP
VP—> AUX VP
NP— ART NPI
NP—= ADJNPI
NPI]—= ADJNPI
NPI—= N

NP— NAME
NP—= PRON

10. NAME —= Mary
11. V—=loves

12. ADJ— that

13. N— person



Cnacubo 3a BHMMaHue!

@/
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